Model and sample answers for
Writing tasks

TEST 1, WRITING TASK 1
SAMPLE ANSWER

This is an answer written by a candidate who achieved a Band 7 score. Here is the
examiner’s comment:

This answer clearly presents the key features of the diagrams, and although the first
map is described only briefly, this is acceptable for this particular task. The description
is accurate though some aspects, such as the section on the accommodation,

could have been more fully extended. The final paragraph summarises the main
points effectively. The information is logically organised and can be easily followed
throughout the response. A range of cohesive devices including reference and
substitution is used appropriately, with only occasional inaccuracies. Some less
common vocabulary and collocations are used appropriately, e.g. central reception
block; western accommodation units, and there are no spelling errors. There is a
variety of grammatical structures and many sentences contain no inaccuracies.
Where errors do occur, they do not affect understanding.

The Euwo mops show the same itsland while fursk one (s before and the second
one s after the conskruckion for kourism.

Looking fursk ok khe one before conskruckion, we con see a huge island wikh a
beach in the wesk. The kokol lengkh of khe islond s opproximakely 250 mekres.

Moving on kO khe Second mop, we con See thot khere are loks of buildings on
the island. There are kuo areas of accommodakion. One LS in the wesk near the
beach while Ehe obher one s in bhe cenkre of the island. Betiuseen bhem, Ehere
5 a restourant n bhe norkth and a cenkral reception block, which s surrounded
by a vehicle krack. This krock also goes down ko khe pier where people can go
sailing in khe soukh sea of khe island. Furthermore, kourisks can swim near Ehe
beach in the west. A fookpakh connecking khe weskem accommodakion uniks
olso leads ko khe beach.

Overoll, comparing the bwo mops, there are significonk changes after khis
development.. Nok only loks of facilities are builk on khe island, buk also khe sea
s used for acktivikies. The new islond has become a good place for kourism.
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Model and sample answers for Writing tasks

TEST 1, WRITING TASK 2

MODEL ANSWER

This model has been prepared by an examiner as an example of a very good answer.
However, please note that this is just one example out of many possible approaches.
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Model and sample answers for Writing tasks

TEST 2, WRITING TASK 1

MODEL ANSWER

This model has been prepared by an examiner as an example of a very good answer.
However, please note that this is just one example out of many possible approaches.
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Model and sample answers for Writing tasks

TEST 2, WRITING TASK 2
SAMPLE ANSWER

This is an answer written by a candidate who achieved a Band 8 score. Here is the
examiner’s comment:

The answer addresses all parts of the prompt sufficiently, focusing on the benefits
for students rather than society. A number of relevant, extended and supported ideas
are used to produce a well-developed response to the question. However, some
ideas, for example the reference to the crime level, are not fully extended. The ideas
are logically ordered and cohesion is consistently well managed. Paragraphing is
used appropriately, and progression between paragraphs is managed with some
sophistication. A wide range of vocabulary is used to articulate meanings precisely,
with skilful use of uncommon lexis, and very few inappropriacies. The range of
grammatical structures used is also wide, with only occasional minor errors.

It has been suggested that high school students should be involved in unpaid conmuunity
services as a compulsory part of high school progranmwes. Most of the colleges

are already providing opportunities to gain werk experierce, however these are rot
compulsery. In my opinon, sending students to work in community services is a good idea
as it can provide them with many lots of valuable skills.

Life skills are very important and by doirg voluntary work, students can learn how

to communicate with others and work in a team but also how to marage their time anrd
mprove their orgamsatioral skills. Nowadays, unforturately, teeragers do not have many
after-school activities. After-school clubs are ro lorger that popular ard students
wostly go home ard. sit in front of the TV, browse internet or play video games.

By giving them compulsory work activities with charitable or community organisations,
they will be ercouraged. to do something more creative. Skills gaired through compulsory
work will yot only be an asset on their CV but also increase their employability. Students
will also gain wore respect towards work and worey as they will realise that it is rot
that easy to earn them and hopefully will learn to sperd them in a wore practical way.

Healthy life balarce and exercise are strongly promoted by the NHS, and therefore
ary kind. of spare time charity work will prevent from sitting and doing rothing. Tt
could also possibly reduce the crime level in the high scheol age group. If students
have activities to do, they will not be bored. and. come up with silly ideas which can be
dargerous for them or their surroundings.

In corclusion, T think this is a very geod idea, and. T hope this progranme will be put into
action for high scheols/colleges shortly.
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Model and sample answers for Writing tasks

TEST 3, WRITING TASK 1
SAMPLE ANSWER

This is an answer written by a candidate who achieved a Band 6 score. Here is the
examiner’s comment:

The answer addresses the task, reporting sufficient details for the reader to be
accurately informed, even though in each chart one element is implied rather than
overtly stated. Clear comparisons are drawn between the two countries. An overview
is given, although focusing on only one age group reduces its clarity. The information
is well organised and a range of linking devices used, e.g. whereas; the latter
country. Vocabulary is adequate for the task and generally accurate, though attempts
to use less common words are less successful. A few errors occur in word formation,
e.g. statistic (statistical); estimative (estimate), but they do not affect understanding.
Simple and complex sentence forms are produced with few grammatical errors, but
the range of structures is rather restricted.

Tre diagrams show statistic informa-tion regarding the ages of the habitant=s of
Yemen and I—ra.hj in 2000 and also a estimative for 20%0.

We can see that in 2000 the majority of people in Yemen was between 0 and 14
years old, whith 50.%, whereas in Italy most of the population was between |5-

59 years od (61.6%), in the same year. On the other hand, st 5.6% of people in
the former country was €0 years old of more in 2000, while in the latter country
this figure is represented with 24.1%.

Tre projections for 2050 show that the number of people with 15-59 years and
60 years of more wil increase in Yemen, reaching 575% and 5.7% respectively. In
contrast, in Ttaly, the population with 15-59 years wil decrease to 46.2%, whie
people with 60 years or more wil gfow to 42.3%

Overall, it is possible to see that there is an vpward trend on the rates of
people with &0 years or more in both countries.
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Model and sample answers for Writing tasks

TEST 3, WRITING TASK 2

MODEL ANSWER

This model has been prepared by an examiner as an example of a very good answer.
However, please note that this is just one example out of many possible approaches.
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Model and sample answers for Writing tasks

TEST 4, WRITING TASK 1

MODEL ANSWER

This model has been prepared by an examiner as an example of a very good answer.
However, please note that this is just one example out of many possible approaches.
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Model and sample answers for Writing tasks

TEST 4, WRITING TASK 2
SAMPLE ANSWER

This is an answer written by a candidate who achieved a Band 4 score. Here is the
examiner’s comment:

This answer expresses a position on the topic, but the ideas are not always clear
because of repetition and a lack of development (the answer is unfinished and
underlength). The information is not organised coherently and it is difficult to follow a
progression through the answer. Although some linking devices occur, substitution
and referencing are not used, and connections between the ideas are unclear. The
range of vocabulary is limited and repetitive, and inappropriate word choices, e.g.
small country language; invest, make it difficult for the reader to follow the meaning.
There are some attempts to produce complex sentences and some grammatical
structures are produced accurately, but frequent errors and omissions in basic
sentence formation and in punctuation make the writing difficult to understand.

T agree about this opinion.
Nowadays, Several /anguagas die out. I think this situation is r/g/w‘. In the world. a/re,ady

have fo much /anguages minimum 100 /anguage,s include small country. But we know Just

Some /anguages, kind of Eng//s/z, French Japanese, Chinies.

At this moment, we live in the world, So we need frist /anguage, in the world. Therefor
several /anguage,s need to die ouf.

Also, small country /anguage, is almost difficult to learn and not usuful. so we don't need
fo learn this /anguage,s. Even if we /aarning this Janguages not using in the world. Just
usuful this country And we don't find small /anguage education academy.

So I think small country /anguages make Spend money and time also we need find first
/anguage using all of country. This is very important for all country of deve/oping.

After when decide first Janguage our communication will be more easier with another
country people. Beside we don't need invest of another language education, and we can
invest another part kind of economic and culture c/eva/op/ng by decrease education
money.

Accordn3 to this opinion,
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